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fo73  wyuwdelaiimadae x—2 wadnsiflu x> +12x+33 19w 68 (3.51)
1. x> —10x* +9x+2 2. x> +10x* =9x+2
3. x> +10x% +9x -2 4. X +10x* +9x +2
Fo7a W afuinnudu §1 x—ams x°+2x2 —5x—2 Aoy 4 ud1 Hauinvesil @ Hanuad
anandeuiou luginaniisuiiudela ms.s1)

1. -4 2. -2 3.2 4. 4
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1%

a v =
NANIVIUTUNAU

we3es1512

XX +11lx+24 x> +11x+28

1075  amHaguues — X — (93.51)
x —=2x-35 x"—-4x-32
Lo , 3 ; 3 4
(x+3) (x+5)
y : 18x+4 |5x>+6x—8 x*-9x+14
V076 WMV — - — +— (»7.50)
x -4 x +4x+4 x" —-4x+4
| 6x> —37x+10 ) 6x> +37x+10
' x* -4 ' x*—4
—6x" =37x+10 —6x° +37x+10
3. - 4. -
x° -4 x° -4
¥077  dnlszneumyuin 6(x +3)* —7(x +3) =5 Tmassiudela (a3.48)
1. 2x+4)(3x-2) 2. (6x+23)(x+2)
3. (6x+18)(x+3) 3. 2x+7)(3x+4)
9078  dnlszneuves 9x* —25x°y’ +16y* Aedela (a3.48)
1. 3x* —4y")(3x* +4y%) 2. Bx? =5xy+4y")(3x* +5xy +4y°)
3. 3" +xy—4y")Bx* +xy+4y*) 4 Bx’—xy—4y")(3x* +xp—4y%)
Y079 fvuawqun A4 =6x"—x—-15 B=2x+3 (C=3x-5
folasielUfignde (n3.48)
1. A+B=6x"+3x—12 2. B-A=6x"+3x+18
3. BxC=-4 4. A+C=B

16x°yz’ +8xy° —4xyz

99 80 minumla (93.49)
4xy
1. 4xz° =2y* +z 2. dxz’ +2y° —z 3. 4xz° -2y° —z 4. 4xz’ +2y* +z
a b _3 @ 09]; A 1 o
981 ™ + =— gy 2a — biiaumla (uedesdisn 49)
x—1 2—-x x"-3x+2
1) 0 2) 1 3) 2 4) 3

Y082  dsnyu Ax + Bx® + Cx + D &1e 2x” + 5x — 3 a¢ldmaansiilu 2x — Lmdewny 3x —2 a9

maved A+ B +C+ D #3.51)
1. 21 2. 15 3. 12 4. 5

083  x+2 mysuludelaudundomy 2 (13.50)

L X +9x +22x+16 2. x> —x+6

3. x° =3x* —6x+8 4. x* —5x* —2x+26
W0 84 wwamMIms 6x* + x° —13x2 +2 &1e 2x* —x — 5 Aedela (13.48)

1. 12x-12 2. 2x—12 3. 2x+12 4. 12x+12
fo85  Tumsms §amsae 3x+2 Mdnams 2x% +3x — 5o 1 dolaradada (a5.48)

1 6x° +13x% +12x 11 2. 6x°+13x* —=9x-9

3. 6x° +13x7 —11 4. 6x° +13x* -9
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